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LGk MXETH & (10°m*/4E) MXETH 4 (10°L/4E) M XETH & (10°L/4F)
1 | EJIEBERJIIET 810,000,000| = 112,609 ;L Al T 20,373,068
2 |5RIRmM 450,437,544| & & 109,232} & FhH 16,131,228
3 JHLIERERER 330,371, 172) &/ &th 96,875 = 9,818,440
4 et 112,401,416 4L1R TR X 87,241 |42 2 ER S 42 I BT 8,405,144
5 |EET 107,169,814]4LIRT B A X 78,636|= REFH 6,886,169
6 |EfETH 57,634,226 fL R T FFE X 75,168] 4 sk AR &= A BT 6,878,975
A LN 45,487,596;T Rl T 67,0051 6,523,431
8 =/ 11,530,393 /B )1/ 59,913|i4 78R B =BT 5,977,617
9 IRl 9,563,129| =K EETH 59,553 4% 3= AR £k ST 3,605,158
10 |ZEH 6,953,637 8l & 50,548| £ JI| ER S B HT 3,087,753
11 |BIEg™H 1,576,232|#R = 46,225 5 /Mg 2,577,528
12 |B¥h 1,089,559 &)1 43,6534t R 2,537,855
13 | Fmh 822,090 #L R I FE X 40,666 51| &R %= 7l ET 2,133,881
14 |/hgh 805,203 |42 B hAZ R /T 40,334) 8l & 1,815,326
15 |=MEH 694,053 fLiRH AL X 36,7245 EERIL EET 1,767,843
16 |#LiRrEEX 619,404| E REF 36,456 |4 FH &R SR ABET 1,668,194
17 | L EBAESRET 392,140 528 H = BT 29,115|BHEE T 1,568,020
18 [dtskwh 361,630/ /AT 28,741 1| B A 31l BT 1,535,440
19 |BBéath 315,754| 4 sRER =B HT 24919| R ZH 2B B ZHHET 1,356,052
20 AL RX 312,895| 4L R 1 [E Al X 24,162 K& ER 17 LEET 1,270,910
21 |#IE AR R 271,920| B ¥ 23,527| 35 &R ER 2 HA BT 1,058,079
22 |® T 257,011 &3 23,099| ZZ M Ef o = B 7 AT 955,268
23 |ALIRMALRE 247,675|/F:EH 22,934 TR = AR ;A HET 953,224
24 AT FTRX 176,772}t R 20,961 & Al 894,953
25 |dER™H 138,312| %% 3= AR 4% 32T 18,920)Z2 XN &0 = B EF AT 852,481
26 |=MNERE ANET 136,956| £ J1| AR BEET 16,018| %L 3C AR 4L XX BT 847,083
27 |#AWmH 122,862|80 11T 15,426 #EJ1I T 830,389
28 |ALIEMRAR 107,601 711 ER 5 51 BT 14,761) BB B AR /N F BT 805,850
29 [ALRTETEX 90,0114 1LAR L/ E BT 13,011|1& EER1E EHT 719,611
30 |dtEET 89,264 F % 11,959 F AR AL = L BT 688,034
31 JHLRFHAEEK 82,2915 M &R £ FNHET 9,549|#2 1 LIEB £ / E T 678,475
32 |FREAFEET 73,100|FRE AR A EHT 9,242 S AT ER & AiTET 678,416
33 |#8ILER T EHET 72,7065 FH B iR £ 5 BT 9,219| B ##EB B #RET 622,827
34 |HLiRTRX 72,478 FLIRFI R X 8,112} 4L i FFE X 582,070
35 |FEEERLRES 4 HT 68,550 4L FH A SR AR BT 7,814| 4L F &R = 13 All BT 580,992
36 |+LiRmERIX 59,943| ZZ &N AR 2% H T ET 7,576) B LEB G EHT 569,150
37 |1RREBA YL HET 55,751/ & 7,486 | F| 7 E8F| i BT 552229
38 |4 aRARER{ZHT 48,618 51| ER A 71 T 7,075] EBEEBAR & RET 549,754
39 |ME™ 47,065| B2 E B 2 ZHT 6,997|#LIR B A X 526,395
40 |E5{TEBRIEET 43,354 X 15 B 157 L BT 6,703 |4 FH AR B8 & &b At 518,828
41 |RIERER S BT 43,0545 E &R L E BT 6,514 LI THEE X 496,292
42 |FI A EBF L ET 40,000] = #% B &= FRET 5,940| = EH 461,507
43 [HREM 39,956 |50 &R ;73 AT ET 5,793| = EBFR = AT 450,038
44 &R 32,601|F=E &R ;B HHET 5,279 F33AT &R SR SAT BT 391,247
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IRz MXETH & (10°m°/4E) MXETH & (10°L/4E) mXETH & (10°L/4F)
45 |%L3ZEB%LSTHET 31,5902 MR = B EFET 5,072 & N EB L FNET 374,492
46 |EITH 29,406 F &R AR E 2PN ET 5,014 AL 1R T /R Al X 373,639
47 REH 25,644|#8E™ 4,890 FHEAITH 360,352
48 | FaERSF = AT 24,3995 RiR 4,832| IR = AR /e BT 314,597
49 |EL/RERER L ET 23,442| B A EHT 44845 RiRH 213,744
50 |1ZiEERIZIEHET 22,793| =X ER R = B EF AT 4437 ILTH 195,658
51 |51 ER%E 5 BT 22520}t 1L & 3,975 SR AR _E - MR ET 170,321
52 |BEERFTOF=HVET 20,1114 E ZR 18 EHT 3,902 &y &R iy *FHT 154,073
53 |4 sRARSE ILIET 19,574| 7| R EBFI R = L BT 3,650|#@EH 133,026
54 |HFERAR 19,000| X i& BB R G BT 3,526 22 AN EBFA MR AT 108,488
55 |BZEEZHE 17,741 E F BB iR R BT 3,408|dL /5 & 105,936
56 |—i=EB/\ZHT 17,507 L BB S A+ 3,387\ | 103,509
57 |ATEREARL L iRET 17,103| B &5 &8/ F BT 3,321 LAl 103,142
58 |#EEEBEIRET 16,823 Al 2,967| B S EBEFT U2 A ET 102,603
59 |E L EBIEEHT 15,980 F!| 7 &R F L BT 2,851 ALIR AL X 101,040
60 |#AITH 15,9700 4L XX BB 4L X ET 2,818/ &g 98,708
61 |AisATER A AT ET 15,7844 M AR EE F &R 4T 2,716)dt 2k 93,343
62 | LJIIERFKET 15,331 sk BB IR F+ )11 41 2,506 #3253l 84,526
63 |&E&F™ 14,835| 1 F AR 1E. &N AT 2,494] 5 SR EBSEILIET 83,383
64 |/LEERA EET 14,742) EBEER A& BT 2,438| & H EB L AR ET 73,941
65 |E#EER B HRET 14,413 5 AT AR & AITET 2,294| F EREDFRET 53,163
66 |50 )1IARA Rl BT 14,026] L A 2221 ALIRTH R X 51,751
67 |sRThARRTET 13,094 FEM 2,198)| Fmh 51,696
68 |HEFFAR= AIET 13,083|;AI SR AR _E L MR AT 2,189] 4 FH BBl R it BT 51,484
69 |Z=XNER L= B EFHET 12,839 &y &R oy BT 2,168] £ JI| ERFNZ=HT 50,942
70 |5 EARF B T 12,4804 F &3 = 1% Il BT 2,032 sk EBsR T BT 48,664
71 FENH 11517 EEET 1,430)fFEmH 46,784
72 |FERERFRET 11,117| 7 3R EBE L ET 1,422| 4 H ERME &1 BT 42,017
73 |2 HER-CERET 10,618]_EJIIER_EJIIET 1,322| Ri& AR X 15 BT 40,321
74 | ERIERFINRET 8,944 #x == B WA I BT 1,247|#LiR R X 40,260
75 |8IERER S BRET 8,805)) I £ &R 55 F JE BT 1,181| B ¥+ 20 = Al BT 35,509
76 |ERITH 8,530| L)1 ZRFNZEHT 1,103 4 = &R #7121 BT 34,610
77 | RE AR B ERHT 7,100} sk T BB SR T T 1,057 SR T ARZ ARHET 33,241
78 |4C HARME &1L ET 7,096 | AT BR AR & B ET 1,030)42 2 AR 422 BT 31,847
79 |# REBEIBHET 6,866 | & ¥ &R 24 Bl ET 1,006] 5 A AR = BT 29,215
80 |ER%m 6,472 27 < EB 7l S T 9664 = &R i# EA BT 27,599
81 |#uAIER B AR ET 6,455 |12 ;& ERAZEHT 949 R T AR IR FH)IIFF 27,528
82 |AREREf=7zHT 6,191| 54 B BB A4 R ET 9211l £ ARIZ 2L BT 26,649
83 | R ERF B BT 5,940] 5 L BB D Ao HT 798| ZE AN AR ZR T ET 25,708
84 |LAlmH 5,816 & M Z8t Bk ET 635 4% 3= &R o 8 Al T 20,271
85 |:AIFEEREE Al 4T 5749| =% 56844 AR = M5 AT 18,328
86 |03l ER = ERET 5,644| H & EBET O = HNET 553| EFLERL Hr BT 18,285
87 |EILERT HroHET 5,448 |8 E BB EIRET 536] = )11 AR ;th FH BT 17,520
88 |FRFEh 5,317| = )I| &Rt R ET 477 R B EBIR L 13,342
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163 X ETHT £ (10°m%/ %) X BT+ 4 (10°L/4F) X ETH £ (10°L/%E)
89 |RIE AR L MR HET 5,266 A= &Rt f- 72 HT 451|532 2RI B2 BT 12,458
90 |Z=&NEREE IRET 5,195 4t 3k 429 L JIIAR L)1 BT 11,080
91 |4CHAR=tHT 5,083 22 %1 &R A 1R ET 396] =i &R/ \ZHT 8,286
92 |JII LERZEFIEHET 4,837| =@ &R/ \EHT 378|031l EB EL AR ET 8,150
93 |/5EEBKRISET 4,823 E LB L FHT 324|4& 1 LIER T ZHT 7,229
94 |#BEEBARZZHET 4,579)+ B AR AR ET 206| =M 7,024
95 |LLiER &R 75 BRET 4,535])1| L BRAZZRET 199|Z2 %0 EB L 7Y )1 | BT 6,766
96 =11 ARt B ET 4500048 F BB+ )1 | BT 181\ EFEBE = HT 6,692
97 |L)IIERFERHET 4,194 43051 BB L AR ET 170) ;A1 SR AR e 1B BT 6,662
98 |#ARITARKAFITET 3979|430 Il &R = ER HT 167)#UAI ZB = #2 HT 6,340
99 |4r H AR S ET 3,834 ERERFRET 15848 RE &R 7l BT 4,871
100 |:ATBRARRE 1B ET 3,829|#AE AR BI BT 145|+ B BB i AT 4,185
101 | & $ABR R F BT 3,728|=ME 142) 27+ EB 51 ST 3916
102 |#EF AR +iE) BT 3,707)#% F ERiR EIET 137| LJIIERTJII BT 3,508
103 | £ 18R 2 FRET 3,403] L JIIBBER I ET 131|/E B BB KA ET 3,406
104 | £ )1 BB LA ET 3,258 L JIIER T JIIEBT 1268 F &R =S ET 2,652
105 |4% 3= &R 5 48 Al BT 3245|RIEHEE 120 LI EB;F K ET 2,623
106 | B ¥F BRI 4T 3,148 AT R A L 1R ET 1184325 B itk EET 2,568
107 |Fé2 BR R REET 3,144 R T BB= KET 109|#E#AER < S BT 2,385
108 |#5RACLBRFRLLET 3,109 51l BB % Rl BT 108]| & & ZB & F HT 2,211
109 |ZHMER S E B E AT 2,996 4 M AR R ET 84|=%h 1,909
110 |22 B0 EHT 2,926|/5 B BB R BT 794 H AR =t HT 1,873
11 | RIEREE 2917|E B EEFHE T9|ATEE AR AR AL A A 1,680
112 |43 EERE 7 ET 2,885 4% == A0 o {E 7l BT 78| ;AT ER B B ET 1,606
113 | ER&ERA iy R ET 2,766 1A A=+ fT ===k ) 1,580
114 |5 FR &R iR &5 80 BT 2,717 £ BB;E KET 61|EEEM 1,430
115 |4k 3= 8R4k S=HT 2,623 EEHAER S £ HT 60| ;AT ER EB L IR ET 1419
116 |4 EER/NEIKET 2,422 %30 31| BB 1 ECET 51 ARER & =72 BT 1,328
117 |42 1L ERE R AR ET 2,393| & 27 B0 Rz 71l BT 51|11 B2 LERT 1,289
118 | 2 27 &R fzE 71 BT 2,331t REFZ YL HET 51|l £ &R 25 F IE BT 1,210
119 | RS ER IR ET 2321 RA IR 43| AR A 1,060
120 | EFER %0 PAET 2,249 ERITED TR ET 41123 BRI Al BT 973
121 |HURIERE Bl BT 2,214 A &R R AL A AT 39| 2 25 &R i Il BT 937
122 | & AR FOET 2,100\ &5 FEB;AH 37|E 2 BRI F AT ET 832
123 |37 5 &R % 5 BT 2,077|EHME L= R EFET 341X == B0 A A BT 827
124 |4 H AR B8 5 &R 4T 2,064|E = EEFHT 32)3AT 75 BB 58 Al A1 787
125 |ATEE AR R 4L At 2,060& 1 LI AR T Z=HT 29| Z AT AR MR AT 715
126 | )1 ER 2 LA ET 1,925)4 FH R B J7 4T 265 1| BB S<iRET 700
127 |4 H AR = 7% Rl BT 1,840)30] 3 &R 5 1B ET 26)8>)1l T 634
128 |=%H 1,804) 4 3T 232 A B P B AR A 540
129 |#AHAERS S HT 1,723] 5 11 B & LA ET 23|BEED Z ERET 495
130 | £ )1 BRSSHEET 1,688 22 XN AR L&D 1| BT 2325 BB AT 429
131 |0 5RER B S ET 1,649 7] 7 &R 58 Al 4 18| R 15 B iz Il BT 338
132 |4CHERE T4 1,611 = B8 3 F AF BT 17|eC B AR E AT 241
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LGk MXETH & (10°m°/4E) MXETH & (10°L/4E) mXETH & (10°L/4F)
133 | & AiTAR 25 AiTET 1,594 1| R 35 iR ET 15| £ JIBRER 11 BT 76
134 |FIEEER B 1,537 K15 & i= R BT URIEREE 70
135 | Z2&NERZR T ET 1,535 5| B Fh E AR A 13| 4N ER L = B FrAT 24
136 |FREEEAR:A A ET 1,487|#F &8 A RZ BT 4% B EhiE = R BT 14
137 |RiEERi= 71l ET 1,405 7 H ER Z ERET 2| & 5EH 7
138 |& = &R 3| F AF BT 1,350 %30 Al & 53 L BT 2|1 R BB A U BT 4
139 |ZHM AR = B B AT 1,350]& & &bk = R ET 1|#F 2B A R BT 3
140 |FREARAL ZEHET 1,349 EN T 1| 7R B ER BT 0
141 |4 B AR SR ARET 1,272 8885 O L )11 BR & 15 BT 0
142 | RIEER K I ET 1,202) 5 7% &R < B BT o):EJItH 0
143 |#EF 28 A 2T 1,200] L)1 ER 1S BT Of#& LI R Z ;R R BT 0
144 |#305! Bk ECET 1,166 B2 [ & 2 f7 BT O|FREE &R ik & 4 HT 0
145 | EJ1IERL)IIET 1,162)&)IITH o|Ir &M 0
146 |# AR Z BRET 1,161 LLIEER & 75 R ET Oj AL 1R T 2 T X 0
147 | B ERERIL B HT 1,123| %} B &R 55 E BT O *ARITER4E ST 0
148 |'& B AR iE F BT 1,088] L )11 BB &1l if BT Of BT EERER B 0
149 | X} 15 BB 5% BT 1,071 AL B E X Of L )11 R FEAF BT 0
150 | B ZLAR7E EIHT 1,049) & AR 1R H0 R BT o|FFEH 0
151 |'& B &k & = fEET 1,013 FARITERFARITHT O] L J11R 2 FRET 0
152 #3051 BR G L AR A 950| B BR AR AL BT O| = AR AL F=HT 0
153 | Z2&NER LAY )I[ET 937 LI AR 2 Al BT o4 B AR5 B BT 0
154 |#&1LER L/ E BT 8973 7 B # s BT 0] % SR AR 1= HT 0
155 |5 )11 8R35 R ET 868 )11 AR o I BT O #8E AR X 22 BT 0
156 |L£JIIARZ: 5l BT 863 | & AR £k 5 BIl T O ALt AP R X 0
157 |RTERIFRH)IFF 748|F A BN B AT O 3 7 & %7 7 BT 0
158 | L)1 BR & 1SHT 748| B E A B B AT O] L)1 BR &I if BT 0
159 |4 &R s BT 710] 4R 4LLER 5% LL BT O 35 &R & 55 &R BT 0
160 |5 L8R &5 = A+ 677] L )11 B 2 FRET o= JIIER e 11 BT 0
161 | &3k 670]#& LI BRI iR BRET Of #R{LLBR AR ALL BT 0
162 |FEEE &R 150 P BT 637 L )11 AR L 7 BT of = i &R # LU Bll 4% 0
163 | &7 &R & FHT 636|FuE AR AL EET 0| B ZLER#E E3 T 0
164 | RiER#D LU B AT 601| B FFERFT AT o] L JIIER = Al BT 0
165 |E=AE FHT 562|ALIR T R X o| & T ER T IERT 0
166 | JIIBRFNZEHT 562| & Al o|&aath 0
167 |35 &RER 2 AT 489) B 3L ERFE EIET of L8 R = 75 R BT 0
168 | £ )11 BRI ET 485| B A ERIE E BT 0):& AR & P ET 0
169 |£JIIER T JIIET 448| 5 N EBA NET of &t B &R /1N ;B 7K BT 0
170 |45k 3= & o tE Al BT 414|811 3% EBH BEET O &I 2% & £ % BT 0
171 |FREERFL X R ET 374|FRE AN Gk & 4F BT O] h& 2 BR B FA BT 0
172 |1 BRI ET 337| & SR ARER{=HT Of 52/ & 52 i BT 0
173 |sR T ARMZ ARHET 298| FRFH Of L )11 &R b AR BT 0
174 |2 F &R R ET 22| % B AR/ INEIKET ojALi%TEHEK 0
175 |BRERT OB &R K 22 BT o|& Rl 0
176 |FII 5 2R F 5 = BT O|ALIRTHEFE X Of L R&ER &N PR BT 0
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EA SEEATITHEHE SHEEATITHIHE SEHEEATITHHE
B
= HmXETH £ (10°m%/ %) HMXETF £ (10°L/%&) HXETH £ (10°L/ %)
177 |¥2RTER TR SHET Of:n] 74 BB 3F =B o|FR = EB s An R ET 0
178 |3 eg 2R/ FRT O] L HER %N PN ET O|FREE &R FL X Bl BT 0
179 |#3CR AR 5% L AT O] L)1 ERFEARET o):mT 78 ER 3 = BT 0
180 |3F#RERFARET O) AR ER FF ARET O] RITEBHARITET 0
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